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weutoff[m_, n_] :=3%"8 Sqrt[(mPi/a) "2 + (nPi/b)" 2]
cutofftable = Table[wcutoff[m, n], {m, 0, 3}, {n, 0, 3}] ;

cutofftable // MatrixForm
cutofftable // Flatten // Sort
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f rectangular waveguide TE modes.nb

Inf7}:=

kiw_,m_,n_] := Sqrt[wAZ/c*Z - Pi"2m"2/a"2 -

c=3+"8;

Pi*2n"2/b"2]

Table[k[w, m, n], {m, 0, 3}, {n, 0, 3}] // Flatten // Drop[#, 1] & // Sort // Reverse
Plot[%, {w, 0, 5%"10}]
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nitiz= Table [DensityPlot[Cos[mPix/a] Cos[nPiy/b], {(x,0, 0.10}, {y, 0, 0.07}],
{m, 0, 3}, {n, 0, 3}] // TableForm
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